BIC

5x10°

log[ Relative Probability ]

Window Half—Width (km/s)

2x108

108

2x10°

5

10

—100 0

—200

1000

100

rm808 2/(411078 5o5o) 0.939
F T T T T T T f
' BIC 446709 34 ABIC 0.000 AlogP 0.0000
I X% 381430.31 Ax? 0.000 AlogP 0.0000 ]
= — — — .
i S . _ __ _ _ 18BIC
............................................................... 5
I : ABIC —570157 1297 «( 1 X
i ' A? —570157 133.5 «( |
4960 4960 5050
A . , . AC '. . ACSF . .
20 40 60 80 100 120
120 iterations
rm808 2/(411078 5o5o) 0.939
T | T | T |
- ' BIC 446709.34 ABIC 0.000 AlogP 0.0000 1
__________________________ ¥%. 381430.31 Ax% 0.000 AlogP 0.0000 _
s 4960 4960 5050 ]
I A ACs _ AC.F ]
| | | | | | | | | | |
20 60 80 100 120
120 iterations
Fe2 12% 521171 km/s
rm808 BLR 14450 NLR 900 km/s
T | T | T | T | | f
I | BLR
NLR
Fell

120 iterations

120

kdh1 8-0ct-2021 05:48



